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Part A 

Answer all questions. Each question carries ⅕ weightage. 

1. N-M utility is based on the assumption 

a) That choices of individuals are transitive.  

b) Probability lies between 0 and 1 

c) Uncertainty or risks does not possess utility or disutility of its own. 

d) All of these. 

2. Identify the economists who extended the idea of stock adjustment to non-durables. 

a) Friedman-Savage    b) Nerlove-Richard Stone 

c) Houthakker-Taylor    d) Friedman-Phelps 

3. Which of the following curve is continuously falling as output increases? 

a) AVC  b) ATC  c) MC   d) AFC 

4. Discontinuity of MR curve is a characteristic of 

a) Cournot model b) Sweezy model c) Betrand model d) None of these 

5. Payoff that is simultaneously a row minimum and a column maximum: 

a) Zero sum game b) Saddle point c) Maximin  d) Minimax 

6. Find expected value of the game if X1 is 500 and P(X1) is 0.35 and X2 is 50 and P(X2) is 0.65 

a) 207.5  b) 275   c) 212.8  d) 210 

7. A positive network externality in which a consumer wishes to possess a good in part 

because others do is called 

a) Lemons problem b) Bandwagon effect c) Snob effect  d) Veblen effect 

8. The saucer shaped average variable cost curve is due to 

a) Increasing returns b) Reserve capacity c) Decreasing returns d) None of these 

9. Cournot solution is an example of 

a) Nash equilibrium    b) Prisoner’s dilemma 

c) Dominant strategy    d) None of these 

(1)                                                       Turn Over 



10. Outcome of a game in which each firm is doing the best it can regardless of what its 

competitors are doing 

a) Nash equilibrium     b) Equilibrium in dominant strategies 

c) Bargaining strategy    d) Pure strategy 

11. St. Petersburg paradox has been developed by 

a) Savage   b) Markowitz  c) Morgenstern d) Bernoulli 

12. Demand theory stating that consumers derive utility not from the actual contents of the 

basket but from the characteristics of the goods in it is propounded by 

a) Marshall  b) Ricardo  c) Veblen  d) Kelvin Lancaster 

13. The curve which shows the cumulative experience in the production of a product over 

time increases efficiency in the use of inputs and thereby lowers cost of production 

a) Isocost curve  b) Indifference curve c) Envelope curve d) Learning curve 

14. When firms get together and attempt to set prices and outputs so as to maximise total 

industry profits, they are known as 

a) Cartel   b) Price leader  c) Dominant firm  d) None of these 

15. Strategy which can be used to find solution in a repeated game 

a) Dominant  b) Bargain  c) Tit-for-tat  d) Minimax 

(15 x ⅕ = 3 Weightage) 

Part B (Very Short Answer Questions) 

Answer any five questions. Each question carries 1 weightage. 

16. Describe payoff matrix. 

17. What is homogeneous production function? 

18. Describe the properties of isoprofit curve. 

19. What is risk? How it is measured? 

20. What is economies of scope? 

21. Differentiate between pure strategy and mixed strategy. 

22. What is Veblen effect? 

23. Differentiate between zero sum and non-zero sum games. 

(5 x 1 = 5 Weightage) 

Part C (Short Answer Type Questions) 

Answer any seven questions. Each question carries 2 weightage. 

24. Markowitz hypothesis is an improvement over Friedman-Savage hypothesis. Comment. 

25. Give an account of Linear expenditure system. 

(2) 
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26. Explain the properties of CES production function.  

27. Identify the similarities and differences between Cournot’s and Bertrand’s duopoly models.  

28. What is technical progress? Explain different types of technical progress.  

29. What is Nash equilibrium? How does it differ from equilibrium in dominant strategies? 

30. Briefly explain various methods to avoid risk. 

31. Explain the concept of prisoner’s dilemma with suitable example. 

32. Examine the characteristic theory of demand. 

33. Write a short note on demand for risky assets.  

(7 x 2 = 14 Weightage) 

Part D (Essay Questions) 

Answer any two questions. Each question carries 4 weightage. 

34. Explain how far has the Neumann-Morgenstern hypothesis succeeded in addressing the 

issue of measuring risk and uncertainty. 

35. Briefly explain the concept of network externality. Examine how the presence of 

networks render the demand curve more or less elastic. 

36. Explain how game theory is used to explain oligopoly models. 

37. Distinguish between collusive and non-collusive oligopoly. Explain the price leadership 

model of oligopoly. 

(2 x 4 = 8 Weightage) 
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